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18. (10pts) Write the system of linear equations whose augmented matrix is given below (use 2,y,z as
variables). Then use the back-substitution method to solve the system of linear equations.
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19. (10pts) Compute the following, where 4 = l:; 4l:| , B = [»3 v :|
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20. (10pts) Given the matrix A = 1 1 1], use a calculator to do the following (write the major
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operational key strokes you used): Your calculator model is _Thi= 33 Puus
(a). compute the reduced row-Echelon form of A;
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of A, (if A~ does not exist, say so).
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(b). compute the inverse matrix At




